

Addition de Nombres Entiers (J)

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$(+65) + (-67) =$

$(-99) + (+51) =$

$(-2) + (+73) =$

$(-38) + (-55) =$

$(-26) + (+79) =$

$(+19) + (-58) =$

$(-73) + (+67) =$

$(+76) + (+91) =$

$(+27) + (+51) =$

$(-74) + (+78) =$

$(-83) + (-15) =$

$(-34) + (+71) =$

$(-39) + (-60) =$

$(-70) + (+8) =$

$(-85) + (-71) =$

$(-47) + (+78) =$

$(-19) + (+86) =$

$(+41) + (+9) =$

$(+58) + (+83) =$

$(-15) + (-47) =$

$(-78) + (+78) =$

$(-12) + (-75) =$

$(+58) + (-40) =$

$(+56) + (-23) =$

$(+40) + (-10) =$

$(-64) + (+97) =$

$(+93) + (+42) =$

$(-78) + (+28) =$

$(-6) + (+47) =$

$(+98) + (+20) =$

Addition de Nombres Entiers (J) Réponses

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$\begin{aligned} (+65) + (-67) &= \\ &= (-2) \end{aligned}$$

$$\begin{aligned} (-99) + (+51) &= \\ &= (-48) \end{aligned}$$

$$\begin{aligned} (-2) + (+73) &= \\ &= (+71) \end{aligned}$$

$$\begin{aligned} (-38) + (-55) &= \\ &= (-93) \end{aligned}$$

$$\begin{aligned} (-26) + (+79) &= \\ &= (+53) \end{aligned}$$

$$\begin{aligned} (+19) + (-58) &= \\ &= (-39) \end{aligned}$$

$$\begin{aligned} (-73) + (+67) &= \\ &= (-6) \end{aligned}$$

$$\begin{aligned} (+76) + (+91) &= \\ &= (+167) \end{aligned}$$

$$\begin{aligned} (+27) + (+51) &= \\ &= (+78) \end{aligned}$$

$$\begin{aligned} (-74) + (+78) &= \\ &= (+4) \end{aligned}$$

$$\begin{aligned} (-83) + (-15) &= \\ &= (-98) \end{aligned}$$

$$\begin{aligned} (-34) + (+71) &= \\ &= (+37) \end{aligned}$$

$$\begin{aligned} (-39) + (-60) &= \\ &= (-99) \end{aligned}$$

$$\begin{aligned} (-70) + (+8) &= \\ &= (-62) \end{aligned}$$

$$\begin{aligned} (-85) + (-71) &= \\ &= (-156) \end{aligned}$$

$$\begin{aligned} (-47) + (+78) &= \\ &= (+31) \end{aligned}$$

$$\begin{aligned} (-19) + (+86) &= \\ &= (+67) \end{aligned}$$

$$\begin{aligned} (+41) + (+9) &= \\ &= (+50) \end{aligned}$$

$$\begin{aligned} (+58) + (+83) &= \\ &= (+141) \end{aligned}$$

$$\begin{aligned} (-15) + (-47) &= \\ &= (-62) \end{aligned}$$

$$\begin{aligned} (-78) + (+78) &= \\ &= (0) \end{aligned}$$

$$\begin{aligned} (-12) + (-75) &= \\ &= (-87) \end{aligned}$$

$$\begin{aligned} (+58) + (-40) &= \\ &= (+18) \end{aligned}$$

$$\begin{aligned} (+56) + (-23) &= \\ &= (+33) \end{aligned}$$

$$\begin{aligned} (+40) + (-10) &= \\ &= (+30) \end{aligned}$$

$$\begin{aligned} (-64) + (+97) &= \\ &= (+33) \end{aligned}$$

$$\begin{aligned} (+93) + (+42) &= \\ &= (+135) \end{aligned}$$

$$\begin{aligned} (-78) + (+28) &= \\ &= (-50) \end{aligned}$$

$$\begin{aligned} (-6) + (+47) &= \\ &= (+41) \end{aligned}$$

$$\begin{aligned} (+98) + (+20) &= \\ &= (+118) \end{aligned}$$